Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora a gmail com-

Tabid Ahmad Bhat S/O: Ab Rehman Bhat R/O: Batagund Tral

Reg. No.: SE-R&B-SB-D-196 of 2018-19

PAN No. DVPPB9987J GST No.:01DVPPB9987J17Y

Subject:-Allotment for Retrofitting of of water supply scheme Naristan Tral II by way of laying and fitting under JJM

Reference:- 1.Your tender in response to this office E-NIT No. 04/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/204-215 dated:- 16-04-2022 Tender ID :2022_PHE_166887_19

2.Minuts of meeting DJJM Pulwama held on 14-06-2022
3. Tech. Senction No: 17/Jam/2022-23 of 07/2022
For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions .

Advertised Cost:-Rs 14.34 lacs

Allotted Cost:- Rs 14.10 lacs

(Rupees fourteen lacs and ten thousand) only

S.No.	Particulars of items	Unit	Qty	Allotted Rate	Amount	
					in figures	in Words
100	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	880.23	428.588	377256,0152	Rupees Three Lakh SeventySeven Thousand Two Hundred FiftySix Paise Two Only
2 00	Earth work in bulk excavation by manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer in-Charge. All kinds of soil.	cum	240	530.18105	127243.452	Rupees One Lakh TwentySeven Thousand Two Hundred FourtyThree Paise FourtyFive Only
3 00	Laying & fitting of G.I. pipes (Light) complete excluding cost of pipes and pipe fittings 40 mm.dia GI Pipes	mtr	1050	40.1064	42111.72	Rupees FourtyTwo Thousand One Hundred Eleven Paise
4 00	25 mm dia GI Pipes	mtr	1250	30.12895	37661.1875	Rupees ThirtySeven Thousand Six Hundred SixtyOne Paise

Subject:-Allotment for Retrofitting of of water supply scheme Naristan Tral II by way of laying and fitting of under under JJM

5 00		mtr	1500	19,90575	29858.625	Rupees TwentyNine Thousand Eight Hundred FiftyEight Paise SixtyThree Only
6.00	20 mm dia Gl Pipes	mtr	350	19.90575	6967.0125	Rupees Six Thousand Nine Hundred SixtySeven Paise One Only
7 00	15 mm dia GI Pipes Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	each	26	654.92375	17028.0175	Rupees Seventeen Thousand TwentyEight Paise Two Only
8	Providing & Laying of dry stone soling tightly hand packed.	cum	9,6	605.9212	5816.84352	Rupees Five Thousand Eight Hundred Sixteen Paise EightyFour Only
9	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40mm nominal size).	cum	7.2	4779.183805	34410.1234	Rupees ThirtyFour Thousand Four Hundred Ten Paise Twelve Only
10	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level 1:2:4 [1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size]	cum	18.72	7668.14708	143547.7133	Rupees One Lakh FourtyThree Thousand Five Hundred FourtySeven Paise SeventyOne Only
11	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:15:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	cum	2.78	9681.906135	26915.69906	Rupees TwentySix Thousand Nine Hundred Fifteen Paise Seventy Only
12	Centering, shuttering including strutting, propping etc and removal of form for Foundation, footings, bases of columns etc. for mass concrete.	sqm	9	257,8409	2320.5681	Rupees Two Thousand Three Hundred Twenty Paise FiftySeven Only
13	Walls (any thickness) including attached pitasters, buttresses, plinth and string courses etc.	sqm	194.4	564.09455	109659.9805	Rupees One Lakh Nine Thousand Six Hundred FiftyNine Paise NinetyEight Only

under JJM

	Total:-	Rs 14.10 lacs				
26	Extra Carriage of different materials from dumping site to actual site of work by manual labouro including loading, unloading, stacking etc.for an average lead of 600 mtr Pipes	мт	10.8	203.9670935	2202.84461	Rupees Two Thousand Two Hundred Two Paise EightyFour Only
	Stone Soling for an average lead of 5 km.	cum	9.6	169.0135795	1622.530363	Rupees One Thousand Six Hundred TwentyTwo Paise FiftyThree Only
25	40mm agg_average lead of 20 km.	cum	6.48	299.7162085	1942.161031	Rupees One Thousand Nin Hundred FourtyTwo Paise Sixteen Only
	20mm aggregate avg lead 20km	cum	25.65	444.289459	11396.02462	Rupees Eleven Thousand Three Hundred NinetySix Paise Two Only
23	Sand for an average lead of 20 km.	cum	17.35	444.289459	7708.422114	Rupees Seven Thousand Seven Hundred Eight Paise FourtyTwo Only
22	Pipe from Avg Lead of 40 Kms	MT	10.8	362.2074845	3911.840833	Nine Hundred Eleven Paise EightyFour Only
21	20 KM		40.0			Rupees Three Thousand
	loading, unloading, stacking etc. Cement, and Steel for an average lead of 20 km	MT	14.67	245.4093905	3600.155759	Hundred Paise Sixteen Only
20	different sources to dumping site of work by Mechanical Transport including					Rupees Three Thousand Si
	Filling available excavated earth (excluding rock) in trenches	cum	864.21	195,3221	168798.7261	Rupees One Lakh SixtyEight Thousand Sever Hundred NinetyEight Paise SeventyThree Only
18	Structural Steel for MS Ladder & Lid	kg	161.55	100.398705	16219.41079	Rupees Sixteen Thousand Two Hundred Nineteen Paise FourtyOne Only
	Reinforcement for RCC works including cutting, straightening, binding All complete	kg	1997	85.693025	171128.9709	Rupees One Lakh SeventyOne Thousand One Hundred TwentyEight Paise NinetySeven Only
17	12mm Cement plaster finished with a floating coat of neat cement of mix: 1: 3 (1 cement 3 fine sand)	sqm	114	371.696875	42373.44375	Rupees FourtyTwo Thousand Three Hundred SeventyThree Paise FourtyFour Only
16,	Edges of slabs and breaks in floors and walls. Under 20cms wide	Mtr	2.16	238.1809	514,470744	Rupees Five Hundred Fourteen Paise FourtySever Only
15	Suspended floors, roofs, landings, balconies, and access platform.	sqm	28.16	624.7948	17594.22157	Rupees Seventeen Thousand Five Hundred NinetyFour Paise TwentyTwo Only

Rates quantity checked

Head Draftsman

of am

- The cost of work in no case exceed beyond Rs 14.10 lacs (Rupees fourteen lacs and ten thousand on
- 2 The conditions laid down in the detailed e-NIT agreement Form No. 25-double will strictly hold good before the drawl of an agreement with the department.
- Time of completion is essence of the contract.
- The work shall have to be started by you at site immediately and ensure its successful completion within period of 04 months from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe
- An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- The allotted works shall be subject to check by the third party monitoring agency appointed by the
- Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a
- 8. Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works . If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
 - 10. Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
 - 11 The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of " laying and fitting and construction of collection chamber".
 - 12. All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25 33.
 - 13 Any rules terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Executive Engineer

Tech. Officer

copy to the:-

- 1). Mission Director , Mission Directorate Jal Jeevan Mission J&K Civil Secretariat Srinagar for favour of information
- 2). Chief Engineer PHE Kashmir Jal Shakti Department, Kashmir Srinagar for favour information.
- 3). District Development Commissioner Pulwama (Chairperson DJJM) for favour of information.
- 3). Superintending Engineer Hydraulic Circle Pulwama H.Q Shopian (Member Secretary DJJM) for favour of information.
 - 5). District Social Welfare Officer Pulwama (Member DJJM) for favour of information.
 - 6). District Information Officer Pulwama (Member DJJM) for favour of information
 - 7). Chief Education Officer Pulwama (Member DJJM) for favour of information
 - 8). Chief Medical Officer Pulwama (Member DJJM) for favour of information
 - 9). Divisional Forest Officer Pulwama (Member DJJM) for favour of information
 - 10). Assistant Commissioner Development Pulwama (Member DJJM) for favour of information.
 - 11). Chief Planning Officer Pulwama (Member DJJM) for favour of information
 - for information necessary action. 12). Assistant Executive Engineer Sub Division Tyal. He will ensure the completion of work within the stipulated period strictly in accordance with approved proposals within allotted amount shall in no case exceed the allotted amount.
 - 13). Assistant Accounts Officer PHE Division Awantipora for information
 - 14).H/D Divisional Drawing Branch for information
 - 15).Office File